Pewienue ypasuenuit u cucmem
ypasuenuu Ci



1. Peuuumos ypaenenue:

on3:
2 _
6LV x°¢ogT L 2 singy <0
TINGs x=7 =<1
—Ssin x
ToceaR
61" —1t—2=0 X
C1£4/1+48 :
b 12 |
137 i
27 1
2 |
h== |
7w B2mk < x <21 + 27k |
®
=L
Omkyga |
COSX =&F ui COSX =——
an 2 2
X=———+42nk wuwm x=-3ccos—+2nk; keZ

x=iaﬁcos§+2ﬂk unu x:i?+2ﬂ3; keZ



_Tc_

2.Haiioume 3chopuquaeuenuﬂ sin2x = cosx, HpPUHaldexHcaujue

HPOMENCYMKY

SIN 2X = COS X;

cosx-(2smnx—1)=0,

cosx =0,

SIN X =

1.

2

1)cosx =0
/[

x=5+7m;neZ.

Ecnun n=0,TO
T 3
X=—, —€|—m;— |
2 2 [ 4 }
Ecnunn=1,TO
37 37x RY/
X = , | — T, — |
2 2 4

Ecnunn=-1,T0



X=——, ——
6 6 4
Ecnn n=0, TO
T T RY/4
X=—, —€|—T,— nIin
6 6 { 4}
Ecnnn=1, TO
137 137:%[_%.3_@ N
6 6 ’

+ 21tn Nnu xX=—+2mn,ne /.




3. Pewwumsb ypagHeHUe:

3’ cos 2x +3V2 cos x=0
PeweHue:

3 + cos2x — sin2x + 3V2 cos x = 0
3 + cos2x — (1 - cos2x) + 3V2 cos x = 0
20052 + 3V2 cos x +2 =0

cos X =t
2t2+3V2t+2=0
tlz'%, t2=—'\/2
\/2 31T 31T

COSX=-— X, =—+21TN, X,=-—+ 2N, N/
2’71 g 2 4

COS X = - \/2 — He umeert peweHuna, T.K. -1< cosx <1

3T 3T
OTBerT: ” + 27N, - ” + 21N, ne/’.



4. Pewumsb ypagHeHUe:

sin 2X = cosX
PeweHwne:

2 Sin X COS X = COS X
2sinxcosx-cosx=0
cos X- (2sinx-1)=0

cosx=0 n 2sinx-1=0
. 1
SN X = —
T 7'[2
x=5+nk,keZ x1=g+27m,
51T

X,=—+ 21N, ne’s
6

T T 51T
OTBeT: o mn,— + Znn,? +2ntn, k,neZ



